KaneHaoapHbIn y4eOHbIN rpaduk

n

[oN
Rl €-82 K_K_K_________ Bl 1-92 K_K_K_K______ %Ml? _________________ Bl a-1¢ _________________ Bl s-o0¢ K_______________
mmmﬂ_ x &mm% x B L[S x P NS x B IR x
mwmm x e B x mwolom x m_mm,ﬂ% x mwmﬂ x
HNEE > ENEE > SHHEE > HHEE > HEEE ~
Q| 9-1¢ x 2| v-62 2 2| +|8 s 2| |m|o x 2| |]eo v
g ]S x g |N|K > Qle-8z e Qlz-12 x Ql1-92 2
me_m KKKKKK Mmmm_ KKKKKK SREE ~ NREE ~ NREER ~
el |S|e|m|m|m|m|x|x| Q||| T ||| ||| HEMEMMNMNMEM® S EE ™ 2 EEEEEIEE
2| [o]o]o]|o|o]o]o|o]2 1733KKKK%M7B33KKKK%M6QH_H_HH_H_H%MSH__ =
Jlz-92 ™ I (S8 ™ 3| 9-0¢ |o|o|o|o|o|o|T| s-62 = 3| v-8z =
MAEI o o b 1] (ol [l [l [l [l fo) e B PN b o NI LS = 3| LIS =
quw*Saaaaﬂmmmaa*Ssaﬂwmﬂaaaaaawwmﬂnnﬂnﬂnﬂmmmﬂﬂﬂﬂﬂﬂ
MMSH olo|lo|ol |G| |=|o Saaaaﬂmgwyaa*aammsussss*SM_M?B_MHTMHTM*
Q| v-6z Qlz-12 2l || >[>[>2] |=|~[o|o|o|o|o|o|Q o - 18 |0 o= ===
3 |NR & _|]|R B 1-92 21 I N e I el ) el ) (R S R NI ™
ENER B EE EHER ERER N EEREEREE
D EE SHBE BEEE 5= (=[5 HEEENEEE
8l [~ 5[5 -e SHGE g <[ 8 [olol I
8| X3 RIS 9| v -8z 8l -2 2l z-0z [ T+

Y

WMMM mmmm Mmm___w_ Mmm% M%ﬂ%%/////////////////////w
mA_mll MMSM %Wm_m_ %mmw %mum%///////////////////////w
8] oo I I S RNEE MMA5n%///////////////////////W
Ble-tz Gl SE 3| 9-1¢ 3| §-0¢e ﬂw-mm%/////
WWMM %WM__Z 2 |38 2 QIR 8 H%W/////////////////////w
mmll Q=SS mv/_uw,ﬂ% mwmﬂ %Wﬁﬂ%//////////////////
SEEE RN RREREERRENAREREE g=le@ ]l L] [&==S- T
Nl s-122 Nl e-9z Nl oo Nl e NE[=~
S 2[Rle] [T [ [ (=2l [T 18l @t e [ T [ [ [ 1|9, SEL LT
HEEE HEEE <[ 2[5 SEEE SHEE -
[N| @ m [ N E || NEIEL
S[&[e[S]o]e NUREE S =1 T FaeEE T T T RE=EFTIT
Q| s-0¢ |o|o|o|o]o|o|Q] v - 62 K_KK_KK_KB%39 ~ B%ZS v B¢17 T ,
N ™ NN ES ™ Nl z-22 |o]|of=f=|=|=|N 1-9z | @ | ¥ | ¢ [N BMG_SGKK_K
MWW_Q 3333%.%5%.. ™ m__%m%aaaaaaﬂ%RES_SS_SS_SN__%BM_3 oo
W%gw* NMSM _3_3_3_3_3mmmw333333mmuw ™ mmnﬂ ™
W_ (V] [ee] ml&. |~ W_JGHGQ***SSSW_VG“RJH****SSN 4m*****3
Sl t-92 mb%m Bl s-0g |o|ofx |« |* [« |B] v-62 |O[0]|D]* [« |« |Sf €-82 [®|O|D[0]= |«
52128 ﬂfmm4/ %%% W_b%m/ ololo W_bn% o|o|o|olo[5] 2[R olololo
—1a 8
wmum mMu mmz//////////////// BHER mmmm
put] (=1 fTe B vl [« %95 o o eI Ol=(~[2

= s
S| v-sz Sl e-2z 28%////////////// |~ S 9-0¢
4l 2|R[& 4 a|& H-mm// NIt al [RIR
[~[o<[o NCIE) 84 %73 NE RN
| xR xR
gt~ S pai B [T R T muﬂ////////////////// ] ke i) = 2|4
Slo-te | [ || |] mm-om//%//-ofm-//// ool PP T T8 o] | 1]
RANE o IR €-8z| z-12 o| 1-92
Rl Y R ©lS[= mmw/ MN% 8%&.%
hEEIE ~E SIS R ~ES[S
©| |m]|o ©| | O_/BW OfwolYy ©|O|w|d
w| z-oz [ufn|u]ufun] [o] 1-52 9-0¢ | - 62 w| v -8z
M_mll 3_m1 ai=|N] r.wh_.lZ 3_m12
N rs] ) b= 1 2%41 m95% %ol N r N
—| ¥ - 6¢ _________________ —| € -8¢ lmmﬂ.wZOO%%W nm_nuwl_/ —| 9-T¢ ___ _ _ _ _
= =y =y = =i = = =)




